
lr*!-of"n- o l|..*/ )
L{ 

, t,(/ q,( - ,l,f .

0urz 12-

E-Ka ur,t 3

t,t{ (c,,

M.,^Joh 3,

3,t( = ,&
?,q J3
q.t +1
rt,r( tl1 (

3. L( t) $ (r) : (x'-t)r -3 5 x < L

^3
L t)*0 

"\\c u,t lo \ nu\ 
^b*,r

1 K tAt4.A_ "

cl'YJu { oJ cv t \"-QH hut'tl^ur
arra a-{ A= -3/ X--2.

r4
['(x\

= tox (x.-t){
tOn (rt-'{)t
(0x (x+it ff-r)'t = O [: o, / - -L)X=L



{(-s) = (3y -q)t= 5r = sr{r
{" fD- (C4r-r)r^ o 

-'*V

$to)= €q)"= - peq

+tr) = C-1)t =;- 
V

A[p* ar,tivrru^ur/^ "( PCA ",( fJ,]7 rs -rcJq t x--0,

AIps. r/^orr ,e $tx\ du El ,{ls 3lriot x = - 3

3,,{ 
^r) D(1) : 3# _ [o o i p= roPtr

? lvirc D-#d(u,nr{safsrru(cyvtw"J,16

Ftil:F # W,uter

r
tz
1

f,'uttP)

F(p) =
-Jooo

a "--i

D+
t

9t(D=

F (.os hc,t1

, a'[ l= to

'-3, ooo
p:-
I

tr-v)o
_3ooo

(/

\

-toog

l=:taF(to)\ = 
t

3ooo

-30 o o

I ooo - too (to)
It

e\o,shc .



r*ql

lrllI tt I Iw4r\\ t-a
A

Ot/\!l d*fl cwr

1.E z3)

F+ LI

A = [x+O(S+s)

At = tx+.D[-S).

<'ocr+s)
o"rzt\ [rr,\ n-[ ,\

\

bqt -xj )
rl_ GK/
vX

(#*e)(r)

tt'
/f,,'

I

(= r8

: w-ry-{ro
- -t(aqs) ?J+g

VZ- '\

-'( (a qt)' r- '-'+t 
= o

xz

8_ g)
X:-

lxl -- t (at,tS)

K2__ry

DWrWSf o",f
\l/ t vr\\^^ tZr) qYea

A'a * = |.'&r y= 3O

S =3u

rnti rn\ w\ t> Q'

U^r t c{ 
[r4^'

i.

U'tttt

1.wt

=Jg4



I ilIItlI

lrnj tn o'l &r e ll o st,,t, (e
I

K>o E_ t{i r

Lo*V 
^-t

n-)
lr,e l' K (

I

t' 'l I'
t tWtt t-tt l-\c44

uolw I
'g -^!

1) tW+s)

dR Ftv,/ Atl . A\= -# 18 't{6qdxne

Alt = g(6{e)gs

A,,(rt): s(&*Ou+ > o

r

A ir cqncauQ uP ^1 X:lfr
F:ft \t a, urnM \wv%-"

(x+



ri,[ }])

b,t-{^

tA^-\ ^3-JxLIFJ :*
/.*)x-t 13-;xu
[oA ) -d-,

^-3It3 : -)xIa \"a

-3x+Y =/-ArL
*3K=--]xL

Ax)-3x=o :

x (ax-3) = Q

K:O K:3.:

[" I o,u',{'t'*'

r\rx-t j-I;r
G) --)

l^ (6f') = ['r[/:-+e)

t^- t) l,n(+) = (z->r4 tn'(t
\ v-J

I - ^,,-3
& -e'

\,r(f) ,, \ _,

(x -D c-3) W4 -(3-2xz) b-t{
r J -)XZ {"\. - "-3xt3



sill:il

Ll.L(

t

_\ A. \5) I'f {) =
/ r\

ll
Acrr ldec'l\.

t

}+ e+

fl {-{) =

d=o
{'t*) >o o. tt+

sc) e ir i,ncu<asig

{uaujwLu^o.

t
e

tAo

cv

tol^ '

t *s\A C,

1cl,))

)tt)=et

.r\a) lk)- €lrzry
$[r) =

e
-2xe. t+3

-l
)


